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1
MAX Z =7X, + 5X,
SUBJECT TO: 4X,+3X,
2X;+ X, <100

Xlaxlzo
2/
MAXZ=3X;+2X,
SUBJECTTO: 2X; + X; <1
2X; +3X5 < 3
XlaXZZO
3/ | _
MAX Z = 3X1 + 2X2
SUBJECT TO: 2X1 + X2 <9
X1 +2X2 <6
X1,X2>0
4/

MAXZ=7X;,+3X,
SUBJECT TO: X;+X,>6
X <5
Xl ’ XZ Z 0

5/
MAXZ= X;+2X,

SUBJECTTO: Xj; +X; <20
le + Xz < 30
X, < 25

Xl ’ XZ >0
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6/
MinZ= 10X, + 12 X,
SUBJECTTO: 20X;3+ 10X; > 100
10X; +10X; > 80
10X =40
X;,X220
7/
MAXZ=50X;+20X;
SUBJECT TO: 2X; +4X, < 400
100 X5 + 50X; < 8000
X, < 60
X;,X:>0
8/

Min Z = §X; + 3X,,
Subject to: X;+2X,>2
2X3+X; >3
Xa <3

X1, X220

9/
MAX Z=4X,;+3X,
SUBJECT TO: 3X,; +2X, >30
X; +2X, <20
X, <8
X;1,X>>0

10/

Min Z=4X; +2 X»
SUBJECTTO: 3X;+5X; >15
6X; +4Xs < 24
X) >2
X1,.X>>20



